ME 13F

AUAZ U6 3M DK
(201142 331414 2] E'—I.OT 'J -_'Ll k a o
5 191 15,5282 |« = 191 400 a2z &0t bl XOFA XIBHA| 2t
agaD 29 6,048& & ﬁ g 29 180 = HRII= (R 848) 10A10%
1200m _ 39 40282 | 7 39 10& | = ((=6) 1:17.5 1:13.8 (53.0,11%)
(28,800& &) - e EYE=YNIRIIN 3 B E 2 A
49 1,728 2 Ne (=42l b 1:16.9 1:11.2 (55.0, 9%)
G 59| 1,440% 2 = & o] 7.2 1:12.7 (52.0,12%) 11A1082
1 % ]IH 01 I‘" MZE (E1530(00) 1:0226261200?R OH2t3% 11\01292:1200.2R 0He43% (101219 261200I1R 0t35% (101107 261000§R DoHA%
D8NRI 1:181 540 QR(1) |DI2ASE 1184 540 FA(T) | DM 1167 530 @) |D4EL=et 1036 530 MI(1)
3K1(08.04.05) Bt o A Sah A735(57%)/14: 55 @BECSYL 11188 540 HEE) |@TELEI 1184 510 =(1) |@138LAT 1168 530 A(1) |@9UHealY 1:037 530 HbH(4)
(2)2IHI0H(2)I0ICI ACHOI = BHSHOE 0F( 0/ 0/ 0) @3S2HEE 11189 540 SIF(2) |@MHMESL 1187 540 EHE(Q) | ®12AIHAEH 11177 530 24@8) |@IMAES  1:038 530 HH(F)
SAH5F( 0/ 0/ 0 1/ 1)/3300& ESnYVIEIEENIVES) @1 1190 540 215(5) |@I10ZTHOIR  1:19.4 530 HY(6) | @B 1178 530 UB@B) |@UMSBANAE 1040 530 AeH9)
2EFFS 0149 0F DRSS/ MaXhEelY ®1220 2501 1:193 520 AI&E(12) [ GIBMHLIH 1195 540 RE(12) |@4EMOH  1:17.8 490 IF(0) | ®8HAEZS  1:041 530 LK)
23 8%/ 52&R19 2 =X 1125 2082 () ®40HAEI0l 1193 530 JI3l(@) |©9IBIME 1197 540 otF@) |© 12226 1179 530 MR |@6SMOK 1:045 530 35(2)
WA G722 £ 03 0BH @ISTHOIA 1198 530 HL(4) |@8EXE 1198 530 H&(10) |@105ta 1185 49.0 2M(6) |@552 1:054 490 l&(11)
OFEIDRZE: 30000&B(HE) 11022620t 142-413-143/3C259-4C453 | 145-399—138/3C 264 —4C46.1 147-392-140/3C263-4C450 |144-387-136/3C144—4C322
S HRIE D 1:17.8(101219,49.05%) | 11021258 X 2= 40033 8(9/14)455-11=212.8204= | 8 0 0 8 8 6(4/13)466+6=20.62312 | 12 0 0 9 7 5(5/14)460-10=7.4 2792 | 6 0 0 6 9 7(7/12) 470+16=8.4 2212
SHEH2I B2 1:19.0 3F( 0/ 0/ 0) 1102035 B Kl 25 =20 =20 =20 F2(6 S X142 (0FA 01)/21 D O
> a} o 110320 =6 1000 3R 2 0tS7% 110225 3R 3= 8 &I AF 1000 543%
2 — = 2' t"g = HEH (=)530(00) DA4SZZM 1031 490 ZA(@6) |D3LIOIAN  1:060 54041 &
34I(08.02.10) &= o M SAk 4295(11.7%) /14 465 @6+5&HA 1032 530 JI2(5) |@9FL#  1:064 53.0+1 LS
(8)H B EYI®I(D)TOI0 2 ZHA | O 1F( 0/ 0/ 0) @ 722401 1037 530 AT [@IMAS 1066 540 I3l
SAHAF( 0/ 0/ 0/ 0/ 0)/ 0 ZRWALAYR(#2F) @ 90{oH o 1038 530 HE(2) |@8steisthl  1:068 53.0+2 €S
2ESHS 0/1@: 0 Db Ea [ MAXHES D] ORISHE 1040 530 HX(1) |GUSRASE 1:068 53041 =S
= 5% /522919 2FZW: 75 T02(HE) @ram* 1:040 530 EH(9) | ©10H0 1069 520 &
DHEE: 9 03l 0HHA @UELY  1:044 530 HBEB) |@6S2ES 1079 530+420/8
OFEIJRA: 200008 R(HE) 11033041014 AlS =& 14.1—39.4—14.0/3c14.1—4ca1.2 143-404-143/3C143-4C326
el =S 11032022t 4004 3 4(8/10)473+5=439 952 10011 1(210)468KG
5H%J1a\ga HEYS 102262 EJ1214 T 232 F20) F(FHE)

32 EdUy
341(08.04.30) &t= =M I
($)ANZIYAN ROYALTY/(2)Z E2]
AH:3(0/ 0/ 1/ 1/ 0)/ 5,957 &
= 110/14: 1103

== 19

oW
r
\lim
.%x“
o

00 M N M AT
o
i

JP‘ 55,0008 & (HE)
Helzl10:1:18.7(110122, 54.0,3%)
HelEZ: 1187 28( 0/ 0/ 1)

o o
o

110305 =6 1200 1R O}2{13%

110122 =6 1200 2R Ot243%

SIQIAI (x
=%}ﬁ (£)540(00) DBAOIY A 10184 540 JIB(2) |D5HLTS  1:182 530 S3(7)
Sak 3T7TS(115%)/14: 435 | @5HEEIL 1187 510 =E(1) |@7HGHHE 1184 530 2I5(1)
SOk 0X( 0/ 0/ 0) @TEEMUE 11188 540 AB(3) |@FAT 11185 530 HR(2)
ZRALAEH(BIE) @MY 1188 540 RE@E) | @102E] 1:18.7 54.0 OLCHI)
DA GA  MAREHIDIS A [®IHAEY 1193 520 4(8) | ® 40t 11190 530 E3(5
2=E1: 93] 1992 (2,24l ® 3% 11199 530 UG |®HIAES 1196 540 2H21(3)
42 03 0HHZ DBSHOIE 12204 540 BEH6) | @IHMALYL 1197 540 St=(4)

1M0325HE X F5
103072 MBS =224
11021281 & & XI 0

139-402-14.1/3C257-4C45.1
100 111(3/9)484-7=26 2292
=2® 21010t

141-40.0-135/3C256—-4C454
300 22 2(4/110)491+4=63.1 1232
2@ nEy

101106 =26 1000 3R O+2+4%
®32m2I0F 1:027 530
@6015015 1031 530
@USEIA 1036 530
@550 1036 530
OIPEE 1040 49.0

1043 530 RE(12)
1:05.3 53.0 40I(9)

0% IR oY o
oo 0o e

=0

100917 1R =& & A} 1000 2{7%

®©4TAD

@1EEYY
15.1-386—-134/3C15.1-4C 332
10 0 01010 8(9/12) 487+1=22.5 2812
F26

D5MIF2El 1052 53.0+1 OiCH
@TASE 1060 530 H&
@1=EHCS 1061 540 =S
@32EYL  1:063 53.0+2 50|
®NHETZe 1064 530 =2
®2B5Y 1069 530 A=
DORCEZE 1070 53041 &4

152-39.8—14.0 / 3C 152~ 4C 33.1
5005 5 5(4/11) 486KG

48800

@0IZA 49.0(0.0)

110326 =36 1000 3R O}2t7%

110226 =36 1000 3R O+243%

110121 2R =8 & AL 1000 2¢3%

@ 9REIH 1:03.1 530 MIZG(1) |D6EA 1:029 540 2Al(1) |D3IALSI| 1.059 530+ H4
3A1(08.05.05) Bt o 2 Stk 63(36%)/14: 65 @220IC3¢  1:042 530 EEH(2) |@9¥+TH 1032 540 S2(3) |@1210121Z2 1:060 53.0+1 Fol
(F)HIZHR)X DA HE GHEt0r: 28( 0/ 0/ 0) @12H L2 1:043 540 TW4(3) |@UMEST 1034 510 42(10) [@2I1€<] 1060 530 HY
SAH2F( 0/ 0/ 0/ 0/ 0)/ 0H R EWAHQHYT|(22X) @4SEEF 1051 530 S2(4) |@8ALSI| 1:035 530 HA(5) |@5HHOH  1:063 490 A
ZERES 014 0% DFZS:BEA 25 | A AFRE IR O ®108t019| 1:052 530 HE@B) |®7EXHAL  1:039 530 QAR [®4z2lW 1065 530 3
EF 47 /52919 2FEZW: T3 RE(AAN) @®52F0IAH  1:054 49.0 2A(12) [@5-HOIM 1042 530 15(4) |@9S2AMA 1.069 540 =%
DAHEH: +< 08 0817 DI1RIERY  1:056 540 ENS(6) |@1BFOA 1052 490 ZA(7) |ONEFEIF 1072 53041 R
ObZI b2 25,000 (2 0H) 11032629} & 14.7-39.3-13.4 / 3C14.7-4C 327 149-39.3-13.6/3C 149-4C 324 15.0-39.6—13.7 / 3C 150 -4C 33.3
sgHelzn:oIses 1102272 S0101 8 I 23|12 6006 6 7(6/12) 425+2=3.1 952 10 0 010 811(9/12) 423-728.1148% | 50 0 5 5 4(4/10) 430KG
EH%‘HEW?* HEQUS =20 =20
gl lg 2' EI_ EI jal%g 54.0(0.0) 17104032610002RD+E¢4% ) 1103062610001RI]+E-H1% 110211 2R =& &l AL 1000 84+3% 11012835-’.‘-%."’&!)&1000 243%
DOOIAE  1:031 540 Z&K1) |D1AII0IE  1:040 510 42Q) [DISS0l¥ 1055 53041 =S |D62A2ZL2l 1047 540 oA
341(08.04.30) Bt= &~ M SAk 2065(5.7%) /18 1S @5JHAI0l  1:046 540 B5(8) |@3E2RQE  1:.042 540 MH(1) |@7X2 1:057 540 QI |@8HI3t=2l 1:048 500 dIA
(R)HE(R)OIEERRHE SIS0k 0F( 0/ 0/ 0) @10SE28  1.047 540 EEH(B) | @102t 1046 540 F2l(4) |@MAZHME 1062 540 & @422 1:059 540 HS
SAH2E( 0/ 0/ 0/ 1/ 0) /1,728 & ESmININE=2-[VLES)] @13 BOCH  1:048 540 FE@4) |@20101A2  1.047 540 HEEF) |@42R2/M2 1065 510 ol |@5HEER 1061 540+ H&
ZERES 0/14: 0& OS2 | MARERE S 63234t 1049 530 €2(Q) |®TN24 1049 530 H(7) |®B8MAIROl 1067 54041 == |®25Y2Ct 1:071 540 RE
EF: 3F /5219 PESESmE 8§l 1462 (2 S =) ®IDEEZ  1:050 510 =Z(7) |®82ASHI 1050 540 AUH(E) | @58 YSICH 1:067 540 {E |@IUBMER 1071 4902FF
DWHEH; 03| OHFZ Qe 3= 1:052 500 HEQ) |@53/UCH 1:050 540 RE®B) |@2ZH  1:09.7 49041 2A | @0HLHICH 1073 50042 %
OHZIOF2{: 18,000 /(2 OH) 110312 DH&F 144-393-14.1/3C144-4C318 148-38.8—138/3C148-4C326 150-402-145/3C150-4C328 |- - - - - /3C - —4C -
sgelzln:oIses 110309 XI 5005 5 3(4/10)456+0=243.8 1682 | 9 0 0 9 7 5(7/10) 456+7=15 1452 500 5 4 3(6/9) 449KG - 00— - —(509) 461KG
WA B HEUS 110214201014 T 235|= =20 oK E RS sa0lg
6 o = = olﬂ (ZZ) 54.0( 0.0) 110326 =36 1000 4R D2{7% 110311 3R =& &1 A} 1000 247% 101205 =26 1000 3R Ot S4% 101016 =6 1000 4R Dt214%
= = Bl = TV DU MEA 1:038 540 BE(Q) |D122 1047 550 B |@6IHSS 1034 490 E=H(1) |D120t2012 1:035 53.0 3I&(1)
3HI(08.03.29) Bt= =~ =M Sk 973(12.3%)/14: 525 @2MIAEZS  1:044 540 A7) 1:057 540 QI | @20MIEA 1044 500 JIS(6) (@722 1:039 530 EE@)
(R)HEE(R)SHH SOk 2&( 0/ 0/ 0) @ 9210122 1:044 530 FH&(5) 1057 570 A= |@3=HO0IH 1044 530 H0I(6) |@ 234 1:04.3 49.0 2 (@)
SAH:3F( 0/ 0/ 0/ 0/ 0)/0H L ZWALAS(BIX) @NELT2  1:046 540 JIE(1) 1058 54041012 |@40HK 1046 530 E5(4) |@101A48=  1:046 530 HIA(Q)
TERES 0/14: 0 OFE: RIS S [ MATEXI RS ®12L101 A0 1:049 540 & Z(10) 1059 5002FE |G@1HIAES 1049 530 H(EB) |®IIOI2LI  1:048 53.0 AIZL(6)
EF 4F /1 s2a919 2FZEW: 125 2032(2,QA)  [®7T=EOK 1:050 530 2I5(6) <s“4mfﬂ‘5a, 1:060 540 HZ |©10ZSolY 1051 530 SE(11)|®64HAE 1052 530 F&H9)
BHEEF: 42 03 0HHZ @UMAASE 1056 540 RIA(12) [@20t0IZH  1:062 520 sld |@5EEF 1:071 530 QIA(12) |@NMYEE 1:064 53.0 RIS(11)
ORI Db REDFAS AHORE) 110326 % & | 2 & Dh & 14.3-39.9-14.5/3C14.3-4C 322 144-39.8—14.1/3C 144-4C323 149-40.7-145/3C149-4C330 | 15.1-38.8—134 /3C15.1—4C 34.1
sigelzlnoIsUs 1012052} 9} 5005 6 6(8/12) 470554221702 | 50 0 5 7 5(2/8) 476KG 110 01111 11(11/12) 475+2218.7.22{ 11 0 011 11 11(10/12) 453-18.3 150
HEHB R &EUS 101016 1 S 4F F20 F2O FA(SAOIYFA(UAY F20
7 OI EI_ % ua IQ () 53.0( 0.0) 110320 =6 1200 2R O}H|7% 110129 =26 1000 3R 0} 43% 110107 1R =24 &1 AL 1000 2t3% 101210 1R =34 &1 AL 1000 2t6%
B D1S3YE 1177 540 82 |DITAD 1:032 500 Z&(5) |MDOICIOIOLE 1:059 500 Al |D4AEIT 1043 520RFS
3A1(08.02.26) &t= o &t Stk 705(82%) /14 155 @6I/LE 1189 540 A1) |@7HASAX 1034 540 HEHE) |@MOISHA 1061 50041 F& | @10FRAEX 1:059 53041 MY
(R)CALE(R)wRE SHEtOr: 28( 0/ 0/ 1) ® 30|58 1:196 530 2I15(7) |@®@3zetd 1:047 540 A1) |[@®THEAZ 1070 50041 A4 [@EUEAS  1:080 53.0+1 &0l
S 7“(0/ 0/ 1/ 0/ 0)/4,02& 2 ERALKFSAM10Z) @5%CHB= 1197 510 IS(8) |@6MEREAL 1050 530 MIE(Q2) |@8XAHIE 1075 530 && |@3015& 1:08.1 53.0427|8
ZERES M0/1E: 1108 OFF: B E O MA LY ® 90| Xt 1198 530 E5(4) |®8HXZI 1054 540 S2@) |®4SEE3 1076 530¢20/2 |©®8E0/E 1086 53022
EE 5&/%33% 191 2FZEW: 73] 1332(R) ®82520l 11199 530 SZ(10) | ® 50181 1:056 530 815(8) |©52R0H= 1080 540 |E [@®26HAZT 1089 530 ES
DAHEH; 49 03l oHR DA4FHIEZ2 12200 530 HE((5) |@45t=2I 1058 530 AUH(11) | @6A%E2] 1086 53.0+2SE |@OMHEERl 1:095 530 L&A
ORZIOF2E: 30,000 2 () 104132 S DI04 T 235|= 14.6—40.1-13.9/ 3C 26.8—4C 46.1 15.1-385—-13.0 / 3C 15.1-4C 337 146-400—-142/3C146-4C327 |- —-—- - - /3C ——4C —
S S 121 2 1: 1:19.6(110320, 53.0,7%) | 1104109 & PR S5 10 0 01010 7(3/12) 423+11=3.1 115 | 11 0 011 11 10(6/12) 412-13=27.51302| 2 0 0 2 2 2(2/10) 425KG - 00— — —(419) 418KG
SHE IR 1196 1&( 0/ 0/ 1) 110320249} & =20 =20 sa0|g

Mg 1Z2= [2011.04.24]




8 Al & 0l

QAL (z)54.0(0.0)

110319 =6 1000 4R O}2{3%

110211 2R =& &) AL 1000 2¢3%

DOHAM  1:036 540 EAS(1) |DISS0IH  1:055 530+ FS
3A41(08.05.10) Bt= =~ 2 Sk 18225(8.2%) /14 245 @108Ha 01 1:039 540 4SH3) |@T7X 1:057 540 QIA
(R)RE(R)HZ=A SHE0k: 0F( 0/ 0/ 0) @NMOIHSE 1:043 530 S2@B) |@MAZME 1062 540 &
SAHAT( 0/ 0/ 0/ 0/ 0)/0& S ZWALEHEREE) @ 42HIAEH 1:043 530 EE(7) |@422UM2 1065 510 &M
ZERES 0/14: 0& DF:EEDI B | AR AIBES AL S B3R XIOI 1:044 530 HE(2) |®BMHAIE0l 1:06.7 54041 &=
EF: 55152919 2FEW: 123 27522 AY)  |®2NIEA  1:046 540 BS(B) |®©53I2OCH 1:067 540 V=
BHEEF: 42 03 0HHZ @120AI 20| 1:056 540 SL(12) | @2SQH  1.09.7 49.0+1 ZAl
OHEDbA: 25000@%(%%) 110323 MI3ZS+ 232U 15.0-38.7 - 13.6 / 3C 150 - 4C 335 15.1-39.9-13.7 /3C 15.1-4C 334
gelzln:oIses 11031920t & 10 0 0101110(8/12) 478-1=6.6 2952 | 6 0 0 6 6 6(5/9) 479KG
EH%‘HEH@E‘. QS 1103092 501014 I 235|= F20@
g |_ 19r [”‘ % ;cl_-HHH (E}) 53.0(0.0) 110325 3R =24 Al AL 1000 St ”‘8'1/0 1103052_610004R 0+2H13% 110128 1R =84 &l A} 1000 2+3% 1012241!_?—’.‘— A1 AF1000 244%
@0=019=2  1:055 560 HOI | D32+25101 1033 540 FS5@) |D4ZSAE 1063 540 QA |DIHEISZ  1:06.1 53.0+2 HPI
3A1(08.05.17) Bt oF 2 Sob 2835(84%) /14 85 @92RE  1:055 540410215 |@5&22X  1:034 540 (1) |@8LR0IY 1067 530 HH |@7H==2 1:063 530 S
(R)IQADME(Z)MERS GHELOR 18( 0/ 0/ 0) ® 505t 1:057 53.0+2401 |@8BEEFA  1:039 530 A2(6) |[@IZHEIF 1071 540 &tF |[@3MENZ 1064 50.0+1 42
SAATE( 0/ 0/ 0/ 0/ 0)/0FS EWALLBE2E) @3CIREA 1057 510 &2 |[@7244X 1:048 540 FE(7) |@20H01& 1072 50002 FF |@8HAIDIY 1072 530 |=
ZERES 0/14: 0% DHERIED| [ MATH(F)SASE G 1A A2101  1:057 540+ &2 |®IASSE  1:048 540 A3(2) [B7YSY 1072 530423 |G ICIOIOLR 1077 490 A
EF 1FIs2e919 23X 93 2427 ®20tE A 1:058 540 MY |@®1BRES 1055 530 4LE) [®6HXMS 1077 5404125 |@I0HEEG 1083 530253
DAHEH: +9% 03 08t @7HR0KY  1:07.0 53041 HH |@6HR0IZ  1:07.7 530 AUI(5) | DIOXITHCE 1078 540 &Y |@124K0HY 1:09.0 530 AU
OHZOFA: 28,0008 2I(OHE) 110218 O+ &I 149-405-14.3 /3C14.9-4C 33.1 15.1-40.7—14.4 / 3C 15.1-4C 335 148-400-139/3C148-4C332 |- —-—-—— /3C - —4C —
HAHRIZ D IISAUS 110210& X 6006 6 8(8/9)464KG 90099 9(9/9) 479+8=3.4 1592 200 2 2 2(2110) 471KG - 00— — —(8/11) 470KG
AT HEYUS 11012325 X B F2® FA(s0I) s0lg
1[] % EI %'El"._' (E}) 53.0(0.0) 17104022612001Rm§4% 17103181R—’F§'e!/\}1000 843% 110306 =36 1000 3R 2 012{11% 11012372612003RD}§3%7
D12LEZ 1179 540 SEH(Y) | DIZAT 1:055 540 HZ | DM 1:040 530 HR(@4) |D52MS2] 1180 540 EHLI(11)
34I(08.02.05) Bt= S 3|M I | Sak 2515(80%) /14 75 @422AH 1186 530 EHE@) | @052l 1:058 530 B|& |@62Hl 1:041 530 J12(3) | @10AIIAE 1:182 53.0 24!(2)
(5*)UNBRIDLED ENERGY/(2)2 2| & SHE0k: 1&( 0/ 0/ 0) @6EMPE 11190 540 5tF(2) | @128HANE 1:06.2 54041 8L [ @MY 22 1:042 490 ZA(©B) |@6HEZ 11193 550 J13l(6)
SAH5F( 0/ 0/ 0/ 1/ 0)/1,728& & ZWAY2Y(EE) @95zl 11192 530 3|A(6) |@7SHXL 1068 510 & (@252 1042 530 MIY(1) |@7BASH 1194 530 QIA(@8)
DEFES 014 0& DHE S0/ MAXLEI 2 R0IEY ®22SHL 1193 520 A2@) |®1ALZFE 1072 540 =A  [G0HSEF 1042 530 SS(1) |G120&2 1196 540 EHS(1)
EES 3&/%3 219 PESESmE 491 962 (2 ®8=MEl 1196 530 JIB@3) |®4E0l  1:07.3 560 Al |[®5S2AH 1047 500 =Z6) |@4MUHZ 1:19.8 540 Z4/(10)
WA B1091125 & 03 0BH @3FAS|9 1204 540 M) | @DNEL] 1074 530257 | @252 1:07.7 53.0 HE(T) |@9sel 1:20.2  50.0 §ll(5)
Oh Ot 30005%()»1;) 110410& X 15.0-39.3-13.6 / 3C27.0-4C46.4 14.8-39.3-136/3C 14.8-4C33.1 146-409-13.1/3C146-4C335 |139-426-152/3C250-4C444
e au $1:19.2(110402, 53.0,4%) | 1104042501014 T2 3% 10 0 01010 8(4/10)422+4=6.8622 | 3 0 0 3 3 3(2/12) 419KG 90 0 91212(12/12) 418-10=18.8 1413 3 0 0 3 3 8(9/12) 428-82291.2 1402
GHEHRIB R 1:19.7 28( 0/ 0/ 0) 110402249} & F20 F2O FA(50)) F20
o 110319 =6 1200 1R D2{3% 110227 =6 1000 3R OtH|13% 110130 =6 1000 3R 0+23% 110108 =6 1000 3R Ot S3%
11 E é QI O[ él 22,:'%} (%)540(0.0) D7HIIERl 1172 500 SIA@E) |DBMEAIA  1:026 530 215(6) |DMAEQ 1032 540 ZS(1) |O70HITIR 1035 540 B2@4)
3HI(08.04.28) &= H ZAM Sk 2402(9.9%) /14 405 @8aHe 1179 540 215(1) |@9UHEZAS  1:034 540 S2(4) |@4AO0IEA 1:045 540 HE(3) |@42Z2A 1037 530 JE()
(R)EEASEH(R)ARAZO|A SHE0k: 0F( 0/ 0/ 0) @NMII220/ 10180 550 2A(4) |@20I3t=2l  1:040 500 3l&(2) |[@2CH0I0F2  1:048 500 2 AI(8) |@3ERIX  1.038 540 HIH(6)
SAHAF(0/ 0/ 0/ 0/ 0)/0H L ZWALXE 59(10X) @2H2tEE 1180 540 BA(7) |@6S-ER  1:041 530 SHA(1) | @3SEHA 1054 540 TA6) |@12+25101  1:039 540 HS(3)
ZERES 0/14: 0 DI ESA  MATEESA ®6Z2tol0f  1:18.1 530 AtH6) |®10712AL]  1:042 530 HYBE) |[G1RFSAY 1054 540 EHS(2) |® A 1:041 530 2H41(2)
EF: 5x /5219 2 =X1:103 21522 %) ®5HLXIZE 1181 540 ZEH5) [®4=D] 1:048 530 J13/(10) |®1CHE &G 1:055 530 S2() |©®2ZAR 1:044 540 S3(1)
BHEEF: 42 03 0HHZ @1I0ERI0L 1:191 540 B5(B) |[@5FR0 1:06.1 540 S=(B) |@5ZR0 1:059 540 JIB(7) |@12ER 0L 1:056 540 JIB(E)
Db Db EDFAE AHORE) 1104132501018 T 232 14.8-39.2-13.0 / 3C 26.9-4C 46.6 159-39.0-13.5/3C 159-4C 336 15.1-395-139/3C151-4C328 |14.7-392—-134/3C14.7-4C330
o S 4 21 21 D 1:19.1(110319, 54.0,3%) | 110402 5 X X 110 01011 11(11/12) 494+2=7.1 149 | 11 0 01110 10(10/11) 492+1=58.2 1355 10 0 010 11 10(8/12) 491+3=6.0 12832 | 12 0 012 12 12(10/12) 488-4=341.7 168:=]
SHEHR2ITF: 1191 1&( 0/ 0/ 0) 11032124 Al =20 F2O MEsEY F20 F2O®
al (=P 7] o 110130 24 1200 5R 2 2/3% 101212 =6 1200 1R O+247% 101113 =26 1000 4R 0t26% 101022 1R =84 Al AL 1000 2+4%
120 2 ¢y SHI (=)sa0(+0) o= o _ aoe | oiootaale 1 et 1
@D 3EOIHE 11167 550 M) |D1HIZAIE 1179 550 () |D100FS2ES 1:029 530 &H&@) |ONFLUHZ 1042 550 oA
3A1(08.04.15) Bt < Y Sob 2875(7.8%)119: 425 @ 9600l 1168 550 HE(7) |@6=2 11182 510 ZEE) | @784 1:029 530 EHES(1) |@12EAA  1:043 510 AIA
(R)ZESOIAIHZ) RS E HELOh 2F( 0/ 0/ 0) @621LS 11172 550 ZS(5) |@140t22dd 1187 550 S2(2) |®3BINSO0l 1041 530 EHE(3) [@ 8 1:05.0 53.0+1 OCH
SAH:3E( 0/ 0/ 0/ 0/ 0)/0HS ZWALE 4 &) (28F) @283 KB 1:17.2 540 51F(6) | @ 2012016t 1188 540 =E(8) [@ 12012 1042 530 Q1A(Q2) |@12HAZ2] 1052 550 K
ZEFES 014 0% DI EES  MAXLAESE B2UAME 1177 550 Q15(2) |B®BASEE 1192 550 SH(5) |G®62HRE 1047 530 HE(B) |@ M 1:055 530 AR
£ 2%/ s2&9:19 2FZE1: 73] 1582(R) ® 5SS 117.8 560 JI2(10) | ®12LHEH S X 1:19.3 530 EH@A) [®IEARE 1047 530 MH(7) |®30HAIY  1:060 530252
DAHEH: +< 08 08I ®anza 1:205 53.0 HB(12) |@5M 28 1:202 53.0 80/(13) |@2M L3 1:059 530 B | D4ZSYE 1061 5302 =4
OHZIOF2A: 30,0008 2I(OHE) 1M0M32=D|014 T 23|12 14.3-40.8—14.0 / 3C26.6-4C46.3 145-411—-14.4 / 3C26.3-4C 455 146—-400-142/3C146-4C324 |144-402-143/3C144-4C318
o S04 21 21 1: 1:20.2(101212,53.0,7%) | 1104042 Dt &+ 7.0 0121213(13/14) 488+12517.6 1525 50 0 5 6 8(9/13) 476-13=67.0 1292 | 10 0 01010 9(10/12) 489-57.787= | 1 0 0 1 1 3(5/10) 494KG
SHEHRITF:1:203 28( 0/ 0/ 0) 1104025 %I =20 =20 F2®

Mg 1Z2= [2011.04.24]

10t &

Ay

WX orA

]



